
29. In which part of the nephron does reabsorption vary under control of hormones?

a. Distal convoluted tubule

30. Elimination of which of the following does NOT significantly depend on secretion from

capillaries into the tubular system?

a. Na+

31. Which of the following is an example of countercurrent multiplication?

a. Establishment of the medullary osmotic gradient by the long nephron loops of

juxtamedullary nephrons

32. Which of the following is an advantage of using urea as the primary way to eliminate

nitrogenous waste?

a. It is less toxic than ammonium.
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